Math2210 Quiz 12 (Sections 14.2-14.3] Summer, 2008 Cvlan Zwick
[an. Zwic K vote 07728705
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Instructions: yP%eGse show all of vour work as partial credit will be given where
appropriate, and there may be no credit given for problems where there is no work
shown, All answers should be compietely simplified, unless otherwise stated.

1. {10 points} Determine whether  F{x, yl=(—¢ "Inyv)i+(e "y "1j is conservative.
if so, find [ suchthat F=V [ _linot siate that I isnot conservative.
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2. {10 points) Show that the line integral is independent of path and then evaluaie t
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Prove independence of poth:
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Evaluate infegral:
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3. (10 points) Evaluate the fine integral f(.‘ wde+(y+z2)dy+xdz where Cis the curve
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4. {10 poinfs] (True or False)
T or J/ﬂ{cirde one} There are 8 possible orders of integration for o triple integral,

3

T or é«’fcircie one] The cross product of two unit vactors is another unit vector.

T
(?/j or F (circle one) 2+2=4



